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These 53 employees form a sample as they are part of

the population she wishes to find out about qualification

She can randomly pick I mangers from each department

plus 6 other random employees from each department to form

a sample of 32 employees . The reason why she should carry

out the investigation this way is because she will include views

employees ranging
from management role to other employees , and

plus sample size large enough ,
more than 30

,
the investigation

will give unbiased views about refreshment facilities .
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Sum of the distances may
be negative, and thus summing

them may give an erroneous results -

The smallest squares of these distances
will give the best

fit line by calculation . Hence this is referred as the
"

method

of least squares
"

p = 505.73 (100%-1+9398.49
=
506000 ( at ) + 9400

F- 0.98699
≈ 0-987
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p : 505.7311%0%-1+9398.49
= 19403.039

≈ 19400

No
. extrapolation
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denote Zhou 's timing ✗ ~ NIKE)

let Y denote Tan 's timing Y~N(79,37
☒ - Y ~ N / 1,13)

p / ✗ < y ) = Plx -4<0)
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☒ = 237%7 = 79.21 ≈ 79.2

52=219-1188653.7
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: µ = so µ is population mean

AH hypothesis : H
, µ < so I left tailed test @ 5% level of sig)

Under Ho
,
in N / so ,%-)

Test statistic : 2- = ~ Nloi )

=ᵗ:%%-
= - 2.1635

P (2-2-2.1635)=0.0152

i. Rej Ho at 5% level of significance and conclude

that Zhou's timing is reduced .
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TEETERBOARD
tail test as he want to test if there

is a change

① His 6 records sample follow normal distributions .

① 6 samples were taken on the same day .
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